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Multiplying Polynomials by a Monomial

Multiply.
y  —5all2a?)
5  3(x-3)
5 3xy(3xy +2X)
2 %x(8x +6)
g llal2a+7)

11) 7xy(5x2 — y?)

13) 7a%b%(a* — 5a2b + 6b?)

%a(lOa2 —15a+ 8)

15)

Simplify
6m(m?2—11m+ 4) - 7(m3 + 8m — 11)

17)

2.5t(8t — 12) + 5.1(6t? + 7t — 20)

%m(8m2 +12m —4) + %(sz —9m)

4x2(7y3)

—4m3(5m?2 + 2m)

7ab (5ab2+ b?)

%a(éa +15)
2.6b(5.1b—1.1)

- 7x%y(5x2 — 3xy +y)

—%x(9x2 +x—4)

—%xy(12x2 + 8xy — %yz)

6a%(3a — 4) + 5a(7a% — 6a + 5) — 3(a?
+ 6a)

3.2a(5a + 1.1) + 9.3(6a%? - 1.1a + 3.5)

%a(a2 +7a-8)+ %(533 +8a% - 3a)
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